KCL

KT6DCC Ordering Code

0]

S = N WA O

Power loss Ps [KW]

=S R

KT6DCC

@

(1) Series

@

(2) Cam ring for " P1"

Volumetric displacement (cm3/rev)

014=47.6 035=111.0
017=58.2 038=120.3
020=66.0 042=136.0
024=79.5 045=145.7
028=89.7 050=158.0
031=98.3 061=190.5

Cam ring for " P2" & " P3 "

003=10.8 017=58.3
005=17.2 020=63.8
006=21.3 022=70.3
008=26.4 025=79.3
010=34.1 028=88.8
012=37.1 031=100.0
014=46.0

HYDROMECHANICAL POWER LOSS

(TYPICAL)
1= 2400 RPM
———n=1500 RPM[24 cSt]
WEI
| __1m ]
1 A p—
0 35 70 105 140 175 210 240
1= 2400 RPM aesy
——=n=1500 RPM[24 cSt]
n=1000 RPM P2~P3
—
ey [ .
s U2 M

0 35 70 105 140

175 210 240 275

Pressure p [bar]

Total hydromechanical power loss is the sum of

each section at its operating conditions.

- 038 - 022 - 008 -

Internal leakage Qs [ ¢ /min ]

1RO0-A1-00*
1l (2] (B3] Q@G ©D ®O

(3) Type of shaft

1 - Keyed (n

o SAE)

2 - Keyed (SAE CC)

3 - Splined (
4 - Splined (

@ Direction o
R=clockwise
L=counter-clockwise

SAE C)
SAE CC)

f rotation(view on shaft end)

(5) Porting combination

00-standard

(6) Design letter

@

Seal class
1-S1 (for min
4-84 (for fire

eral oil)
resistant fluids)

5-S5 (for mineral oil and fire resistant fluids)

Mounting W/connection variables

Unc Metric
00 01 MO M1
P3 "] 34 |1 | 3

(9) Modifications

32
28
24

1800
1600
1400
1200
1000

INTERNAL LEAKAGE (TYPICAL)

— 10 ¢St
— 24 ¢St
P
P2+P3
> -
1P
//L _ -1
| ey
//
160 _ 190
0 35 70 105 140 175 210 240 275

Pressure p [bar]

PERMISSIBLE RADIAL LOAD

L

Fa

]

Shaft keyed N°1

800
600
400
200

600 1000 1200 1500 1800 2000 2500

Speed n [rpm]

Maximum permissible axial load Fa= 1200 N




KT6DCC Dimensional Drawing

212.5 404 83.6
181 84.4 119.3 138 38.112.7
79 +0
] J 2 s Key 6350
m— 5
') & E 3 ] : |
= R . o9 7
L S — | Q _—
/
) Ve e =N
~ = N1 0 >
< A o 2.3x 4_“H_ 23
o4 i1 f |
( / 7]\%UNTING TORQUE 138 ft.lb JL 13 x45° .
t.lbs
MOUNTING TORQUE 138 ft.lbs MOUNTING TORQUE 50 filbs (187 Nm) Shaft Code 1
(187 Nm) (68 Nm) (Keyed no SAE)
M12 x 22.4 DEEP 4-HOLES
MI0x 190 DEEP4-HOLES |\ . Hoglsé_m UNCx OiSSS; 989‘7
- X 50. - NAA
(3/8-16 UNCx 0.75) 565 OB-TIUNCXLI8) s
o 77.8
B & = 635 _| Key9.52"0 s
g
— / M10 x 20 DEEP
AR E
o 8 / - <= T
B 1 U g %
e — 2 <
2.3 x 45 — - A2
| 25x35 ol
s ¢
2101.6 ©31.8
Shaft Code 3 Shaft Code 4 M10x19.0 DEEP 4-HOLES Shaft torque limits (m/¢/rev x bar
SAE C splined shaft SAE CC splined shaft (/8 -16 UNCx0.75) Shaft Code 2 qv " mix L2 +P3))
Class 1-J498 b 12/24 dp.  Class 1-J498 b 12/24 dp. (Keyed SAE CC) Shlﬂft pXp ooy
-14 teeth 30° -17 teeth 30°pressure PORT | CODE A B C
pressure angle flat root angle flat root 2 66500
cide fit side fit by | 00&MO [206(52.4) [1.03(262) | 1.0025.4) 3 <1200
01&M1 |1.874(47.6)|0.874(22.2)|0.75(19.05) 4 66500
OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (input power p (kw) for one cartridge only)
Pressure Volumetric Flow q & n =1500rpm Input power p & n =1500rpm | P Max Max
Port Series | Displacement Vp (//min) (KW) Kg/cm?| r.p.m
cm’/rev P=0 bar P=140 bar | P=240 bar P=7 bar | P=140 bar | P=240 bar
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 2.5 22.2 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
P1 024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9 240 2500
031 98.3 147.5 138.1 131.9 3.3 36.2 61.0
035 111.0 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3 180.4 171.1 164.9 3.7 43.9 74.3
042 1 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 1 145.7 218.5 209.2 203.0 4.1 52.8 89.5 2200
050 D 158.0 237.0 227.7 224.0 2) 4.4 57.0 85.0 2) 210
061 1 190.5 285.7 278.0 — 4.6 60.6 — 120
005 17.2 25.8 20.8 17.3 1.4 7.5 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
010 34.1 51.1 46.1 42.6 1.7 13.4 22.3
P2 P3 012 37.1 55.6 50.6 47.1 1.7 14.4 24.1 275 2500
- 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 44.1
025 79.3 118.9 113.9 110.4 2.5 29.2 49.5
028 88.8 133.2 128.2 125.8 2) 2.8 32.7 48.5 2 210
031 100.0 150.0 145.0 142.6 2 2.8 36.5 542 2)

1) 042-045-050-061=2200rpm max.

2) 028-031-050=210 bar max. int.

3) 061=120 bar max. int.

061=80 bar cont.

Min Speed : 600 rpm




KCL

KT6DDCS Ordering Code

Power loss Ps [KW]

KT6DDCS -038-035-014-1 R 00 - B1 - 00 *

O b1 [P2] (23] @G 00 ®O

(1) Series
SAE C 6 bolts

Mounting flange J744 SAE C
(2)Cam ring for "P1" & " P2 "

Volumetric displacement (cm3/rev)

014=47.6 035=111.0
017=58.2 038=120.3
020=66.0 042=136.0
024=79.5 045=145.7
028=89.7 050=158.0
031=98.3 061=190.5
Cam ring for " P3 "
005=17.2 017=58.3
006=21.3 020=63.8
008=26.4 022=70.3
010=34.1 025=79.3
012=37.1 028=88.8
014=46.0 031=100.0

(3) Type of shaft
1 - Keyed (SAE C)
2 - Keyed (SAE CC)
3 - Splined (SAE C)

@

(4) Direction of rotation(view on shaft end)
R=clockwise
L=counter-clockwise

(5) Porting combination
00-standard

(6) Design letter

(7) Seal class

1-S1 (for mineral oil)
4-S4 (for fire resistant fluids)
5-S5 (for mineral oil and fire resistant fluids)

Port connection variables

SAE 4 bolt flange (J518c¢)
Pl & P2 =11/14" S = 4"
Unc Metric
CODE | 00 01 MO | Ml
P3 " 3/4" " 3/4"

(9) Modifications

INTERNAL LEAKAGE (TYPICAL)

4 - Splined (SAE CC) I
—— 10 ¢St o173
5 - Keyed (no SAE) " 24 oSt ~
.g
g 24
HYDROMECHANICAL POWER LOSS 3
— 20
TYPICAL
( ) & y 3 L
> T T T T
6 n= 2400 RPM op 12 Pl P7”
5| n= 1500 RPM[24 cst] &4 |
ﬁ% Pl ~P2 9 3 | —T J——
4 P34
3 ‘_g 4 |
) S . — _ P1LP2 - 8 = — |
E . 22 I E 0
1 0 35 70 105 140160175190 210 240 275
0
0 35 70 105 140 160 175 190 210 240 Pressure p [bar]
PERMISSIBLE RADIAL LOAD
. 20000 |
n= 2400 RPM
P p— n= 1500 RPM([24 cst] 1800 e
n= 1000 RPM P3 1 1600 fa
P I I E— N '" _ z Shaft keyed N° 1
———————————— ] = aft keye
| — 1400 v
0 =~ 1200
0 35 70 105 140 160 175 190 210 240 275 2 1000
Pressure p [bar] S 200

Total hydromechanical power loss is the sum of

each section at its operating conditions.

600
400

600 1000 1200 1500 1800 2000 2500
Speed n [rpm]

Maximum permissible axial load Fa=1200 N




KCL

KT6DDCS Dimensional Drawing

2-917.5

213 455 84
181 120 125 148.5 38.1] 127
ol14.5 | 16.35MAX
0
[ — — ‘ 7.9=H Key 7.94 705
[] [ I u 49.3
D & — g9 = § g
~ |§ = N MI10x 20 DEEP
() | } | ’
A es
Jan Ja = — <
N7 A/ T4
vy > Q
) L7
5 1.3x45° 0 .
/ KE 7JL wlg
. MOUNTING TORQUE 190 Nm 1.3 x45° 8
(D\bv MOUNTING TORQUE 80 Nm Shaft Code 1

M12 x 24 DEEP 4-HOLES

MI12 x 22.4 DEEP 4-HOLES

(7/16-14 UNC x 0.87)

M16 x 30.0 DEEP 4-HOLES

91 84
— +0 +0 77.8
50.8 Key 9.52.9.05 60 Key 7.94 .05 el
% ‘ /M10x20DEEP% ‘ / M10 x 20 DEEP
Ml0x 201
S==t :,:‘.U /7\
o[ % o % S ™
% 23 s % X < “ 3
i % | N 2Q \
s 9 ol a8
Shaft Code 2 Shaft Code 5

(7/16-14 UNC x 0.94)

(5/8-11 UNC x L.18)

55.9

(Keyed SAE C)

Shaft Code 3

" SAE C splined shaft

Class 1-J498 b 12/24d.p.

-14 teeth

30° pressure angle flat

root side fit

(Keyed SAE CC) (Keyed no SAE ) 5101.6 231.8 E
46 M10 x 19.0 DEEP 4-HOLES
‘ (3/8 -11 UNC x 0.75) Shaft torque limits (m//rev x bar)
313 Shaft Code 4 Alternate connect. variables Shaft Vp x p max.(P1+P2+P3)
SAE CC splined shaft 00 & MO 01 & Ml 1 43240
= f:ll;“tseelt'h”% b 12/24d.p. A 1.03 (26.2) 0.874 (22.2) B 72306
30° pressure angle flat B 2.06 (52.4) 1.874 (47.6) 3 61200
root side fit C 1.0 (25.4) 0.75 (19.05) 5 55600
OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (input power p (kw) for one cartridge only)
Pressure Serics DisV;)ich:IlneglltcV Flow q 82/n ._1 500rpm Input power(ll)< sz )n 1500rpm P Max Max
Port p p (¢/min) Kg/em? | r.p.m
cm¥rev P=0 bar P=140 bar | P=240 bar P=7 bar P=140 bar | P=240 bar
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 2.5 222 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
028 89.7 134.5 125.2 119.0 3.2 33.2 55.9
P1~P2 031 98.3 147.5 138.1 131.9 3.3 36.2 61.0 240 2500
035 111.0 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3 180.4 171.1 164.9 3.7 43.9 74.3
042 1) 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 1) 145.7 218.5 209.2 203.0 4.1 52.8 89.5 2200
050 1) 158.0 237.0 227.7 224.0 2) 4.4 57.0 85.0 2) 210
061 1) 190.5 285.7 278.0 3) — 4.6 60.6 3) — 120
005 17.2 25.8 20.8 17.3 1.4 7.5 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
010 34.1 51.1 46.1 42.6 1.7 13.4 22.3
012 37.1 55.6 50.6 47.1 1.7 14.4 24.1
P3 014 46.0 69.0 64.0 60.5 1.9 17.6 29.5 275 2500
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 44.1
025 79.3 118.9 113.9 110.4 2.5 29.2 49.5
028 88.8 133.2 128.2 125.8 2) 2.8 32.7 48.5 2) 210
031 100.0 150.0 145.0 142.6 2) 2.8 36.5 542 2)

1) 042-045-050-061=2200RPM max.

2) 028-031-050=210 bar max.

3) 061=120 bar max. int.
061=80 bar cont.

Min Speed : 600 rpm




KCL

KT6EDC/M Ordering Code

Power loss Ps [KW]

S =N W s

KT6EDC/M

- 066 - 038 - 008 -

1R00-C1 -

%

P-0
GRNOID

O 1] [P2] 73] @ G) 67

@

(1) Series
(2) Cam ring for " P1 "

Volumetric displacement (cm3/rev)

042=132.3 062=196.7
045=142.4 066=213.3
050=158.5 072=227.1
052=164.8 085=269.8
057=180.7

Cam ring for " P2 "

014=47.6 035=111.0
017=58.2 038=120.3
020=66.0 042=136.0
024=79.5 045=145.7
028=89.7 050=158.0
031=98.3 061=190.5
Cam ring for " P3 "
005=17.2 017=58.3
006=21.3 020=63.8
008=26.4 022=70.3
010=34.1 025=79.3
012=37.1 028=88.8
014=46.0 031=100.0

HYDROMECHANICAL POWER LOSS

(TYPICAL)
6 n=2200 RPM
5 | ------n=1500 RPM[24 cSt]
n= 1000 RPM P | L
4 Pl
3 =
> Pl
1
0

0 35 70 105 140 160 175 190 210 240

—_n=2200RPM
—-———-n= 1500 RPM[24 cSt]
n=1000 RPM

P

P2

p2| | |

I

S = N W R N

0 35 70 105 140 160 175 190 210 240

n= 2200 RPM

----—-1= 1500 RPM [24 ¢St
n=1000 RPM P3
I —— =

0 35 70 105 140 160 175 190 210 240 275

Pressure p [bar]

Total hydromechanical power loss is the sum of
each section at its operating conditions.

(3) Type of shaft
1 - Keyed (G45N-1SO 3019-2)
2 - Keyed (SAED & E)
3 - Splined
(4) Direction of rotation(view on shaft end)
R=clockwise
L=counter-clockwise

(5) Porting combination
00-standard
(6) Design letter

(7) Seal class

1-S1 (for mineral oil)
4-S4 (for fire resistant fluids)
5-S5 (for mineral oil and fire resistant fluids)

Mounting (pump)

P=Pedestal mounting
F=Face mounting

(9) Mounting W/connection variables
0=P3=1" SAE
1=P3=3/4" SAE

Modifications
INTERNAL LEAKAGE (TYPICAL)

36

321 — 10 ¢St
— 28 | — 24 ¢St 5
f=)
£ z
~ 2
— 20
&

16 PI_=71 ]
go 12 // ””””
'?‘3 ) ///’P/Z _______
— =
= L | | —73
s 4
3 = |
E 0

0 35 70 105 140160175190 210 240 275
Pressure p [bar]

PERMISSIBLE RADIAL LOAD

|_ = =]
1800 —‘
F
— 1600 a
a Shaft keyed N° 1
= 1200
-]
<
Q
—~ 800
400
600 1000 1200 1500 1800 2000 2200

Speed n [rpm]

Maximum permissible axial load Fa=2000 N




KT6EDC/M Dimensional Drawing

468
120 148.4 133.3 429 91.9
‘ ‘ 'Tw Key 140 05
| . =
/ i ~ MI2 x 24
o 1] O 0 A 63/ | [DEEP
o o I = S R - - e
“ & S — 3
oo
g - - = ||%
A E ]
o o[ 34x45° o5 § o
= *zr; -
(L f - o
MOUNTING TORQUE 40 ft.lbs i —
(54Nm) MI12 x 20 7:]<
75 100 Key 11.11*.8_05 MOUNTING TORQUE 140 ft.lbs 22 2.0x45°
(150Nm) 120.1 100.7
48.8 / 172-13 UNC x0.94 DEEP  MOUNTING TORQUE 2(§ éofﬁﬁi (ke??dagfs?\ld-fslo 0192)
= MI12 x 24 DEEP-4 HOLES M12 x 30 DEEP-4 HOLES
. M16 x 30 DEEP-4 HOLES
— = MI10 x 19 DEEP-4 HOLES
gz 30.2 778 35.7 —
L EE S P =
Shaft code 3 3 E ] \ i i 1]
gl‘fa\i ?&fg;;{:ined shaft g | ‘
8/16 Dp{ 13 Teeth L /'$ @ a
30° Pressure angle Shaft code 2 (b Q} T {B {B %‘
flat root side fit. (keyed SAED & E) — \o\ Q\j
PR Q —
PORT | CODE A B @C ™ /N %L I
0 [2.06(52.4)[1.03(26.2) | 1.0(25.4) @) & @
P3 1 1.874(47.6)|0.874(22.2)|0.75(19.05) @ @
Shaft torque limits (m//rev x bar) L
Shaft Vp x p max.(P1+P2+P3) L L L )::
n 114715 231.8 2101.6 238.1]6.4
OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (input power p (kw) for one cartridge only)
Pressure Volumetric Flow q & n =1500rpm Input power p & n =1500rpm | P Max | Max
Port Series | Displacement Vp (¢/min) (KW) Kg/cm2 r.p.m
cmrev P=0 bar P=140 bar | P=240 bar P=7 bar | P=140 bar | P=240 bar
042 132.3 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4 213.6 203.6 196.5 5.4 52.9 88.7
050 158.5 237.7 227.7 220.6 5.7 58.5 98.3
P1 052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
057 180.7 2711 261.1 254.0 6.1 66.4 106.9 240 2200
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 213.3 319.9 309.9 302.8 6.7 71.7 131.2
072 227.1 340.6 330.6 323.5 6.9 82.6 139.5
085 1) 269.8 404.7 397.7 2) — 7.3 65.3 2) — 90 2000
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 2.5 22.2 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
P2 028 89.7 1345 125 119.0 3.2 33.2 55.9 240 2200
031 98.3 147.5 138.1 131.9 33 36.2 61.0
035 111.0 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3 180.4 171.1 164.9 3.7 43.9 74.3
042 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 145.7 218.5 209.2 203.0 4.1 52.8 89.5
050 158.0 237.0 227.7 224.0 3) 4.4 57.0 85.0 3) 210
061 190.5 285.7 278.0 4) — 4.6 60.6 4) — 120
005 17.2 25.8 20.8 17.3 1.4 7.5 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
P3 010 34.1 51.1 46.1 42.6 1.7 13.4 223 275 2200
012 37.1 55.6 50.6 47.1 1.7 14.4 24.1
014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 44.1
025 79.3 118.9 113.9 110.4 2.5 29.2 49.5
028 88.8 133.2 128.2 125.8 3) 2.8 32.7 48.5 3) 210
031 100.0 150.0 145.0 142.6 3) 2.8 36.5 542 3)

1) 085=2000RPM max.
4) 061=120 bar max. int.
061=80 bar cont.

2) 085=75 bar cont.

085=90 bar max. int.

3) 028-031-050=210 bar max.

Min Speed : 600 rpm

85




KCL

KT6EDCS Ordering Code

Power loss Ps [KW]

S = N WA

S = N W s

S = N W s

KT6EDCS - 066 - 038 - 008 -

1R0-C1-P-0-*

0 ] 2] 3] @G 00 ® ® W

@

(1) Series
(2) Cam ring for " P1 "

Volumetric displacement (cm3/rev)

042=132.3 062=196.7
045=142.4 066=213.3
050=158.5 072=227.1
052=164.8 085=269.8
057=180.7

Cam ring for " P2 "

014=47.6 035=111.0
017=58.2 038=120.3
020=66.0 042=136.0
024=79.5 045=145.7
028=89.7 050=158.0
031=98.3 061=190.5
Cam ring for " P3 "
005=17.2 017=58.3
006=21.3 020=63.8
008=26.4 022=70.3
010=34.1 025=79.3
012=37.1 028=88.8
014=46.0 031=100.0

HYDROMECHANICAL POWER LOSS

(TYPICAL)

—__1=2200RPM
—————-1= 1500 RPM[24 cSt]
n= 1000 RPM 2 S

Pl

| N N S S

0 35 70 105 140 160 175 190 210 240

n=2200 RPM
—————-n= 1500 RPM][24 cSt]
n=1000 RPM

T P2

I

0 35 70 105 140 160 175 190 210 240

——n=2200 RPM
------n= 1500 RPM [24 ¢St

n=1000 RPM P3 41—

[ g7

0 35 70 105 140 160 175 190 210 240 275

Pressure p [bar]

Total hydromechanical power loss is the sum of
each section at its operating conditions.

(3) Type of shaft
1 - Keyed (G45N-1SO 3019-2)
2 - Keyed (SAED & E)
3 - Splined
Direction of rotation(view on shaft end)
R=clockwise
L=counter-clockwise
(5) Porting combination
00-standard

(6) Design letter
(7) Seal class

1-S1 (for mineral oil)
4-S4 (for fire resistant fluids)
5-S5 (for mineral oil and fire resistant fluids)

Mounting (pump)

P=Pedestal mounting
F=Face mounting

Mounting W/connection variables
0=P3=1" SAE
1=P3=3/4" SAE
Modifications
INTERNAL LEAKAGE (TYPICAL)

36

32 — 10 cSt
— 28 | — 24 ¢St b
£
£ 7
~ 2
— 20
&

16 P3Pl ]
% 12 // """"
'_§ ///P/Z -
- 8 I~ i
3, |~ | 3
5 ——
2 0

0 35 70 105 140160175190 210 240 275
Pressure p [bar]

PERMISSIBLE RADIAL LOAD

L = =

[I]
1600 fa
Shaft keyed N° 1

1800

1200

Load F [N]

800

400

600 1000 1200 1500 1800 2000 2200
Speed n [rpm]

Maximum permissible axial load Fa=2000 N




KT6EDCS Dimensional Drawing

Shaft torque limits (m//rev x bar)

Shaft

Vp x p max.(P1+P2+P3)

1

114715

OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST)

i
4

231.8

[2101.6

(input power p (kw) for one cartridge only)

[238.1]]
6

<

468
224.5
120 148.4 133.3 429|100
| | |
9
— | 1H
7{ L = 1/2-13UNCx0.94DEEP
2 bt 4L < Z i 635
- 2 28—z -5
S — s
= g - — = =
— K=l
— 12l =
*E % 23x45° F9| =
L (] L <2
— M - <2
1o | pdll il T 2ox4s° 3
MOUNTING TORQUE 40 ft.Ibs I e
273 (54Nm) MI12 x 20 ]
MOUNTING TORQUE 140 ft.Ibs @
(190Nm) 1201 1007 - Shaft code 2
L MOUNTING TORQUE 221 ft.Ibs - : (keyed SAED & E)
| 63.5 (300Nm)
&
/ F< 7/16-14UNCx0.94 DEEP-4 HOLES PR NI DEEP7 ';‘ HOLES
= L = 24 5/8-11UNCx1.18 DEEP-4 HOLES | 5
- © 3/8-16UNCx0.75 DEEP-4 30) 778 57—
2.3 4”% g g e HOLES |9 302 \ : —
3x +Oi Zl ! ] \‘ ‘
< o
+' ¥ /@ & 48.8
S Shaft code | @/ 5 o @
N /%} el —
PORT | CODE A B @C o [ /N 9
s 0 |2.06(52.4) |1.03(26.2) | 1.0(25.4) @l @ ’ /
1 [1.874(47.6)[0.874(22.2)[0.75(19.05) & Shaft code 3

SAE D&E splined shaft

class 1~j498b
8/16 Dp. 13 Teeth
30° Pressure angle
flat root side fit.

P Volumetric Flow q & n =1500rpm Input power p & n =1500rpm | P Max | Max
ressure . . .
Port Series | Displacement Vp (¢/min) (KW) Kg/en?’ | r.p.m
cm3/rev P=0 bar P=140 bar P=240 bar P=7bar  P=140 bar  P=240 bar
042 132.3 198.5 188.5 181.3 5.2 49.4 82.6
045 142.4 213.6 203.6 196.5 54 52.9 88.7
050 158.5 237.7 227.7 220.6 5.7 58.5 98.3
P1 052 164.8 247.2 237.2 230.1 5.8 60.8 102.1
057 180.7 2711 2611 254.0 6.1 66.4 106.9 240 2200
062 196.7 295.0 285.0 277.9 6.4 71.9 121.3
066 213.3 319.9 309.9 302.8 6.7 77.7 131.2
072 227.1 340.6 330.6 323.5 6.9 82.6 139.5
085 1) 269.8 404.7 397.72) — 7.3 65.3 2) — 90 2000
014 47.6 71.4 62.1 55.9 2.3 18.5 30.6
017 58.2 87.3 78.0 71.8 2.5 22.2 37.0
020 66.0 99.0 89.7 83.5 2.8 24.9 41.7
024 79.5 119.3 110.0 103.8 3.0 29.6 49.8
P2 028 89.7 134.5 125.2 119.0 3.2 33.2 55.9 240 2200
031 98.3 147.5 138.1 131.9 3.3 36.2 61.0
035 111.0 166.5 157.2 151.0 3.5 40.7 68.7
038 120.3 180.4 171.1 164.9 3.7 43.9 74.3
042 136.0 204.0 194.7 188.5 4.0 49.4 83.7
045 145.7 218.5 209.2 203.0 4.1 52.8 89.5
050 158.0 237.0 227.7 224.0 3) 4.4 57.0 85.0 3) 210
061 190.5 285.7 278.0 4) — 4.6 60.6 4) — 120
005 17.2 25.8 20.8 17.3 1.4 7.5 12.2
006 21.3 31.9 26.9 23.4 1.5 8.9 14.7
008 26.4 39.6 34.6 31.1 1.6 10.7 17.7
P3 010 34.1 51.1 46.1 42.6 1.7 13.4 22.3 275 2200
012 37.1 55.6 50.6 47.1 1.7 14.4 24.1
014 46.0 69.0 64.0 60.5 1.9 17.6 29.5
017 58.3 87.4 82.4 78.9 2.1 21.9 36.9
020 63.8 95.7 90.7 87.2 2.2 23.8 40.2
022 70.3 105.4 100.4 96.9 2.3 26.1 44.1
025 79.3 118.9 113.9 110.4 2.5 29.2 49.5
028 88.8 133.2 128.2 125.8 3) 2.8 32.7 48.5 3) 210
031 100.0 150.0 145.0 142.6 3) 2.8 36.5 542 3)

1) 085=2000RPM max.
4) 061=120 bar max. int.

061=80 bar cont.

2) 085=75 bar cont.

085=90 bar max. int.

3) 028-031-050=210 bar max.

Min Speed : 600 rpm




KCL

KT67DCB Ordering Code

Power loss Ps [KW]

o]
o]

KT67DCB - 038 - 022 - B0S -
@

(1) Series SAE C 2 bolts
Mounting flange j744c¢

(2)Cam ring for " P1"

Volumetric displacement (cm’/rev)

@

014=47.6 035=111.0
017=58.2 038=120.3
020=66.0 042=136.0
024=79.5 045=145.7
028=89.7 050=158.0
031=98.3 061=190.5
Cam ring for " P2 "
005=17.2 017=58.3
006=21.3 020=63.8
008=26.4 022=70.3
010=34.1 025=79.3
012=37.1 028=88.8
014=46.0 031=100.0

1 RO00-A1-01*%

1] 2] 3] @G 07 ®O6)

(3) Type of shaft

1 - Keyed (no SAE)

2 - Keyed (SAE CC)
3 - Splined (SAE C)
4 - Splined (SAE CC)

(4) Direction of rotation(view on shaft end)

R=clockwise
L=counter-clockwise

(5) Porting combination

00-standard

(6) Design letter
(7) Seal class

1-S1 (for mineral oil)
4-S4 (for fire resistant fluids)
5-S5 (for mineral oil and fire resistant fluids)

Mounting W/connection variables

Cam ring for " P3 "

B02=5.7 B09=28.0
B03=9.8 B10=31.8
B04=12.8 B11=34.9
B05=15.9 B12=40.9 @
B06=19.8 B14=45.1
B07=22.5 B15=50.0 34
B08=24.9 -
HYDROMECHANICAL POWER LOSS
(TYPICAL) = 28
...... n= 400 RPM [24 cS1] E u
n= 1200 RPM ~
6 — \P\l\ : 20
3 - < 16
4 )
3 Pl S 1
53 I I — <
2 — 8 g
;
0 35 70 105 140 175 210 240 3
20
5 n= 2400 RPM
4 | n= 1800 RPM [24 cSt]
s n=1200 Elﬂ_ _%,’_/—_/
2 :,_;;/— B 2200
:) 1980
0 35 70 105 140 175 210 240 1760
1540
5 =
g — h= 100 REM [24 ost] Z 1320
3 n=1200 RPM = 1100
2 e — — I s
I I R — 8 660
e P3| 3
0 0 35 70 105 140 175 210 240 275 300 400

Pressure p [bar] 22

Total hydromechanical power loss is the sum of
each section at its operating conditions.

P1=1 1/4" P2=1" P3=3/4" S=4"

Unc Metric
01 M1
Modifications

INTERNAL LEAKAGE (TYPICAL)

— 10 ¢St
—— 24 ¢St
Pl
P2 ]
P
" —ps | —— |
Zééé’/ﬂ”/
0 35 70 105 140 175 210 240 275 300

Pressure p [bar]

PERMISSIBLE RADIAL LOAD

-]

Shaft keyed N°1

Fa

/

600 1000 1200 1500 1800 2000
Speed n [rpm]

Maximum permissible axial load Fa =800 N

2500




KCL KT67DCB Dimensional Drawing

212.4 404 83.6
181.0 84.4 119.3 | 138 38.1 127
| { | 19 403 Key 6.35 g5
N —1
) o8] . = S © ﬁ ] o
= i — 5] % s3
/1 _N=a ™ /T N
o | g - - —3 S
N 3 RN
il L E 23x45 o4 S
qE
MOUNTING TORQUE 138 ft.lbs / MOUNTING TORQUE 138 ft.Ibs 13x45 ik
(187 Nm) MOUNTING TORQUE 50 ftlbs (187 Nm) ® Shaft Code 1
55.2 61.0 (68 Nm) M12 x 22.4 DEEP 4-HOLES
79 g M10 x 19.0 DEEP 4-HOLES 116 x 30.0 DEEP 4 HOZ]ElS- RO (Reyedno SAB)
‘<3—8— 233 | 63.5 Key 9.52 T(())_os
= 1 % M10 x 20 DEEP
=S t r |/
4 ) Txus 2 x5 1
- 3x45 e i
|~ Shaft Code 3 Shaft Code 4 =
SAE C splined shaft SAE CC splined shaft ﬁ eS| =
Class 1-J498 b 12/24dp.  Class 1-J498 b 12/24 dp. 23x45°5 " = | S
-14 teeth -17 teeth I SR
30° pressure angle 30° pressure angle : 0234 2101.6 231.8 Sl?af;rc de 2
flat root side fit flat root side fit MI0x 19,0 DEEP 4-HOLES Road SAB CC)
OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (input power p (kw) for one cartridge only)
Pressure . Volumetric Flow q & n=1800rpm Input power p & n=1800rpm PM
Port Series | pisplacement Vp (¢/min) (KW) K/ ax | Max
cm¥/rev P=0bar | P=140 bar | P=240 bar | P=7 bar | P=140 bar | P=240 bar giem | r.p.m
014 47.6 85.0 77.4 71.1 2.99 21.85 36.79
017 58.2 87.3 78.0 71.8 2.5 222 37.0
020 66.0 118.6 101.4 104.2 3.38 29.47 50.11
024 79.5 142.8 134.6 128.5 3.66 35.06 59.89
028 89.7 161.3 153.0 146.8 3.87 39.28 67.28
P1 031 98.3 176.7 168.5 162.3 4.09 42.84 73.51 240 2500
035 111.0 199.6 191.3 184.1 4.31 48.09 82.7
038 120.3 216.3 208.1 201.8 4.50 51.94 83.47
042 1) 136.0 244.5 236.3 230.1 4.83 58.44 100.81
045 1) 145.7 261.9 253.7 247.5 5.02 62.45 107.83
050 1) 158.0 284.1 275.8 271.3 2) 5.27 67.54 100.322) | 210 2200
061 1) 190.5 285.8 2780 3)| —— 5.5 72.69 3) 120
Series cm¥rev P=0 bar P=140 bar | P=275 bar P=7 bar P=140 bar | P=275 bar
005 17.2 30.9 26.0 21.5 1.70 8.94 14.77
006 21.3 38.3 33.4 28.8 1.78 10.64 17.74
008 26.4 47.4 42.6 37.9 1.89 12.75 21.43
010 34.1 61.3 56.4 51.8 2.06 15.94 27.00
P2 012 37.1 66.7 61.8 57.2 2.11 17.18 29.18 275 2500
014 46.0 82.7 77.8 73.2 2.30 20.87 35.62
017 58.3 104.8 99.9 95.3 2.55 25.95 44.54
020 63.8 114.7 109.8 105.2 2.66 28.23 48.52
022 70.3 126.4 121.5 116.9 2.80 30.92 53.22
025 4) 79.3 142.5 137.6 133.1 2.99 34.64 59.74
028 4) 88.8 159.6 154.7 1524 2) 3.18 38.58 57.22 2) 210
031 4) 100.0 179.7 174.9 172.5 2) 341 4321 64.17 2)
Series cm?/rev P=0bar | P=140 bar | P=300 bar | P=7bar | P=140 bar | P=300 bar
B02 5.7 10.4 8.8 6.8 0.55 2.99 6.40
B03 9.8 17.6 15.9 14.0 0.63 4.65 10.25
B04 12.8 23.0 21.4 19.4 0.70 5.89 13.13
P3 BO05 15.9 28.6 26.9 25.0 0.76 7.17 16.12
B06 19.8 35.6 33.9 32.0 0.84 8.79 19.88 300 2500
B07 22.5 40.4 38.8 36.8 0.89 9.91 22.47
B08 24.9 44.7 43.1 41.1 0.94 10.9 24.78
B09 28.0 50.3 48.6 47.0 1.01 12.19 27.77
B10 31.8 57.2 55.5 53.5 1.11 13.75 31.42
Bl11 34.9 62.9 61.2 59.3 1.15 15.04 32.22
B12 40.9 73.7 72.1 70.1 1.28 17.56 37.71
B14 45.1 80.8 79.2 77.0 1.36 19.23 41.37
B15 50.0 89.8 88.3 86.5 5) 1.47 21.28 42.76 5) 280
1) 042-045-050-061=2200 rpm max. 2) 025-028-031-050=210 bar max. 3) 061=120 bar max. int. Min Speed : 600 rpm
4) 025-028-031=2500 rpm max. 5) B15=280 bar max. int. 061=80 bar cont.




KCL KT7QDCB Ordering Code

Power loss Ps [KW]

(= S R Y

S = NN W R N

S = N W R W

KT7QDCB -B38-B08-B08- 1 R 00 - A1 - 00 *

@ [p1] g B 006 0 ®O

@ Series @ Type of shaft

(2) Cam ring for " P1 " 1 - Keyed (no SAE)

5 2 - Keyed (SAE CC)
Volumetric displacement (cm*/rev) 3 - Splined (SAE C)

B14=43.9 B35=113.4 4 - Splined (SAE CC)
B17=55.0 B38=120.6 S D
B20=66.0 B42=137.5 (4) Direction of rotation(view on shaft end)
B24=81.1 B45=145.7 R=clockwise
B28=89.9 B50=157.9 L=counter-clockwise
B31=99.1 @ p b
orting combination
31 " "
Cam ring for " P2 00-standard
B05=17.2 B17=58.3 :
Design letter
B06=21.3 B20=63.8 @ g
B08=26.4 B22=70.3 (7) Seal class
B10=34.1 B25=79.3 1-S1 (for mineral oil)
B12=37.1 B28=88.8 4-S4 (for fire resistant fluids)
B14=46.0 B31=100.0 5-S5 (for mineral oil and fire resistant fluids)
Cam ring for " P3 " Mounting W/connection variables
B02=5.7 B09=28.0 P1=11/4" P2=1" P3=3/4" S=4"
B03=9.8 B10=31.8 Unc Metric
B04=12.8 B11=34.9 01 M1
B05=15.9 B12=40.9 . .
B06=19.8 B14=45.1 (9) Modifications
B07=22.5 B15=50.0
B08=24.9
HYDROMECHANICAL POWER LOSS
(TYPICAL) E INTERNAL LEAKAGE (TYPICAL)
h= 300 RPM [24 St 5 - 10 ¢St
~= R o — S ;
e _ 9 16 7
IR i o
e — g1 I~
—|=— Pl | _—— i‘s g Pl L —| =
— T Té 4 /4/1)3///
| [ | —T 1
0 35 70 105 140 175 210 240 = 11 |
T TanE 0 35 70 105 140 175 210 240 275
— — n=1800 RPM[24 ¢S] Pressure p [bar]
n=1200 RPM PR —
I e |
! P et — PERMISSIBLE RADIAL LOAD
e e 1980 —
1760 ]
0 35 70 105 140 175 210 240 275 1540 o
Shaft keyed N° 1
—— = 2S00RPM 1320
L
[ B ————y 880
— Bt 660
- +—T—1P3 440
600 900 1200 1500 1800 2100 2400

0 35 70 105 140 175 210 240 275

Speed n [rpm
Pressure p [bar] P [rpea]

Maximum permissible axial load Fa= 1200 N
Total hydromechanical power loss is the sum of

each section at its operating conditions.




KT7QDCB Dimensional Drawing

(187 Nm)
55.2 61.0

38 31.5

%%
i

@2 5xus 2.3x45
I~ Shaft Code 3 Shaft Code 4

SAE C splined shaft SAE CC splined shaft

Class 1-J498 b 12/24dp.

-14 teeth

30° pressure angle
flat root side fit

ING TORQUE 138 ft.lbs

-17 teeth

74.0
ial

(187 Nm)

404 83.6
84.4 119.3 | 138 38.1 127
\ +0
NS Key 6.35 _
J { 7.9 493 0.05
A< Py [ ] il
o = — © v
=0 2 A e ——t
= i _ _ _ S A5
: —3 1 13¢
A
2 23x45 29 S
A
/ MOUNTING TORQUE 138 ft.lbs 1.3 x45° g -
MOUNTING TORQUE 50 ft.Ibs

3/8-16 UNC x 0.75

Class 1-J498 b 12/24 dp.

30° pressure angle

flat root side fit

(68 Nm)

M12 x 22.4 DEEP 4-HOLES
77/16-14 UNC x 0.§§987

22

5/8-11 UNCx 1.18

(Keyed no SAE)

Key 9.52 70 s

M10 x 20 DEEP

9 @/ wL

2101.6

M10 x 19.0 DEEP 4-HOLES

3/8-16 UNC x 0.75 DEEP
OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (input power p (kw) for one cartridge only)

231.8

-

)
<
=1

=
+ 3

42.27 Max

—
0
ISe)
Q

Shaft Code 2
(Keyed SAE CC)

Pressure | Series Volumetric Flow q & n=1800rpm Input power p & n=1800rpm | ppjay | Max
Port Displacement Vp (¢/min) KW) Kg/cm2 r.p.m
cmrev P=0 bar P=140 bar | P=250 bar P=7 bar P=140 bar | P=250 bar
Bl14 43.9 79.1 72.5 67.3 2.6 20.7 35.0
B17 55.0 98.8 92.3 87.0 2.8 25.3 43.0
B20 66.0 118.6 112.0 106.8 3.0 29.8 50.9
B24 81.1 145.8 139.2 134.0 3.4 36.1 61.9
B28 89.9 161.8 155.2 150.0 3.5 39.7 68.3
P1 B31 99.1 178.3 171.7 166.5 3.7 43.6 75.0 250 2500
B35 113.4 203.9 197.2 192.0 4.0 49.4 85.3
B38 120.6 216.8 210.2 204.9 4.2 52.4 90.5
B42 137.5 2472 240.6 2354 4.5 59.4 102.7
B45 145.7 261.9 253.6 246.8 5.0 62.4 108.7
B30 157.9 284.1 275.8 2713 1) 53 67.5 100310 | 210 2200
Series cmyrev P=0 bar P=140 bar | P=300 bar P=7 bar P=140 bar | P=300 bar
BO0O5 17.2 30.9 26.0 16.44 1.70 8.94 17.88
B06 21.3 38.3 334 21.6 1.78 10.64 21.6
B08 26.4 47.4 42.6 30.72 1.89 12.75 26.16
B10 34.1 61.3 56.4 44.64 2.06 15.94 33.0
BI12 37.1 66.7 61.8 50.04 2.11 17.18 354
P2 B14 46.0 82.7 77.8 66.0 2.30 20.87 43.8 275 2500
B17 58.3 104.8 99.9 88.2 2.55 25.95 54.84
B20 63.8 114.7 109.8 98.04 2.66 28.23 59.76
B22 70.3 126.4 121.5 109.8 2) 2.80 30.92 60.36 2) 240
B25 79.3 142.5 137.6 — 2.99 34.64 —
B28 88.8 159.6 154.7 — 3.18 38.58 —
B31 100.0 179.7 174.9 — 3.41 4321 e
Series cm¥rev P=0bar | P=140 bar | P=300 bar | P=7bar | P=140 bar | P=300 bar
B02 5.7 10.4 8.8 6.8 0.55 2.99 6.40
B03 9.8 17.6 15.9 14.0 0.63 4.65 10.25
B04 12.8 23.0 21.4 19.4 0.70 5.89 13.13
P3 BO0O5 15.9 28.6 26.9 25.0 0.76 7.17 16.12
B06 19.8 35.6 339 32.0 0.84 8.79 19.88 300 2500
B07 22.5 40.4 38.8 36.8 0.89 9.91 22.47
B08 24.9 44.7 43.1 41.1 0.94 10.9 24.78
B09 28.0 50.3 48.6 47.0 1.01 12.19 27.77
B10 31.8 57.2 55.5 53.5 1.11 13.75 31.42
BI11 34.9 62.9 61.2 59.3 1.15 15.04 32.22
BI12 40.9 73.7 72.1 70.1 1.28 17.56 37.71
Bl14 45.1 80.8 79.2 77.0 1.36 19.23 41.37
BI15 50.0 89.8 88.3 86.5 3) 1.47 21.28 42.76 3) 280

1) B50=210 bar max. int.

2) B22=240 bar max. int.

3) B15=280 bar max. int.

Min Speed : 600 rpm

Shaft Code 1




KCL

KT7QDCC Ordering Code

Power loss Ps [KW]

(=R S TRV RN N

S = N0 W s N

KT7QDCC - B38- 008 - 008 -

@

(1) Series @

(2) Cam ring for " P1 "

Volumetric displacement (cm?/rev)

B14=43.9 B35=1134
B17=55.0 B38=120.6
B20=66.0 B42=137.5
B24=81.1 B45=145.7
B28=89.9 B50=157.9
B31=99.1

Cam ring for " P2" " P3 "
005=17.2 017=58.3
006=21.3 020=63.8
008=26.4 022=70.3
010=34.1 025=79.3
012=37.1 028=88.8
014=46.0 031=100.0

HYDROMECHANICAL POWER LOSS
(TYPICAL)

n= 1300 RPM [24 cS1]
— —n=1 RPM cSt
n=1200 RPM | PL —
// -
P
-7 Pl —r—~
//
—

0 35 70 105 140 175 210 240

n= 2500 RPM
— — n=1800 RPM[24 cSt]
n= 1200 RPM P2~P3| +—
I B e e 2 X R

41— [p>P3

0 35 70 105 140 175 210 240 275

Pressure p [bar]

Total hydromechanical power loss is the sum of
each section at its operating conditions.

Internal leakage Qs [ / /min ]

1RO0-AT1-00*

r [12] (B3] Q@ ©D ®O

(3) Type of shaft
1 - Keyed (no SAE)
2 - Keyed (SAE CC)
3 - Splined (SAE C)
4 - Splined (SAE CC)
6 - Splined (no SAE)
(4) Direction of rotation(view on shaft end)
R=clockwise
L=counter-clockwise

(5) Porting combination
00-standard

(6) Design letter
(7) Seal class

1-S1 (for mineral oil)
4-S4 (for fire resistant fluids)
5-S5 (for mineral oil and fire resistant fluids)

Mounting W/connection variables

Unc Metric
00 01 MO Ml
P3 1 n 3/ n 1 n 3/ n

(9) Modifications

INTERNAL LEAKAGE (TYPICAL)

20 — 10 ¢St

—— 24cSt Pl P2-P3
16 -
12

PLL— _—
g L
) |2
//
0
0 35 70 105 140 175 210 240 275

Pressure p [bar]

PERMISSIBLE RADIAL LOAD
K

Shaft keyed N° 1

1980
1760
1540
1320
1100
880

660

440
600 900

Fa

1200 1500 1800 2100

Speed n [rpm]

2400

Maximum permissible axial load Fa=1200 N




KT7QDCC Dimensional Drawing

212.5 404 83.6
181 84.4 119.3 138 38.1| 12.7
7.9 +0
21 L Key 6.35
J ‘ \ 493 -0.05
g ge N ™~
& ™~ =
= 3 . & % 7 1 g
s //\‘ Q ) T
N H _ _ _ 7 _ <t
HAD) < ‘ : 3 5
~= -1 - ] S
J = | " %zmﬁﬂ_ -5 %
»L1.3x45° al &

(MOUNTING TORQUE 138 ft.Ibs

H

2.3x45°

Shaft Code 3
SAE C

14 teeth
30° pressure angle

Shaft Code 6

no SAE

Class 1-J498 b 12/24 dp.
14 teeth

30° pressure angle

OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST)

Shaft Code 4
SAE CC

Class 1-J498 b 12/24 dp. Class 1-J498 b 12/24 dp.
17 teeth 30% pressure angle

MOUNTING TORQUE 138 ft.Ibs

K/IOUNTING TORQUE 50 ft.1bs

(187 Nm)
10,

(68 Nm)

M10 x 19.0 DEEP 4-HOLES

<

(3/8-16 UNC x 0.75)

(187 Nm)

Shaft Code 1
(Keyed no SAE)

M12 x 22.4 DEEP 4-HOLES

(5/8-11 UNC

262

13023
— @

(7/16-14 UNC x 0.88) _ 89.7
M16 x 30.0 DEEP 4-HOLES ~79
X 1.18)

Key 952:())05

M10 x 20 DEEP

|

|

+0

@38.1 -0.05

42.27 MAX.

g 25x35
2101.6

(1\3/[/;40—)1(61%21103 E%%‘SSHOLES Shaft Code 2 Shaft torque limits (m//rev x bar)
(K;‘e S Ag Cec : Shaft | Vp x p max.(P1+P2+P3)

1 43240

PORT | CODE A B C > 66500

by | 00&MO[206(52.4) [1.03(262) [ 1.0(254) 3 1200

1.874(47.6)0.874(22.2)|0.75(19.05
01&M1 (47.6) (22.2) ( ) 4 66500

(input power p (kw) for one cartridge only)

Pressure | Series Volumetric Flow q & n=1800rpm Input power p & n=1800rpm | p pay | Max
Port Displacement Vp (¢/min) (KW) Kg/cm2 r.p.m
cm/rev P=0bar | P=140 bar | P=250 bar | P=7bar | P—140 bar | P=250 bar -
B14 43.9 79.1 72.5 67.3 2.6 20.7 35.0
B17 55.0 98.8 92.3 87.0 2.8 25.3 43.0
B20 66.0 118.6 112.0 106.8 3.0 29.8 50.9
B24 81.1 145.8 139.2 134.0 3.4 36.1 61.9
B28 89.9 161.8 155.2 150.0 3.5 39.7 68.3
P1 B31 99.1 178.3 171.7 166.5 3.7 43.6 75.0 250 2500
B35 113.4 203.9 197.2 192.0 4.0 49.4 85.3
B38 120.6 216.8 210.2 204.9 4.2 52.4 90.5
B42 137.5 247.2 240.6 235.4 4.5 59.4 102.7
B45 145.7 261.9 253.6 246.8 5.0 62.4 108.7
B50 157.9 284.1 275.8 2713 1) 53 67.5 1003 1) 210 2200
Series cmyrev P=0 bar | P=140 bar | P=300 bar P=7 bar P=140 bar | P=300 bar
B03 10.8 19.6 14.6 — 1.57 6.30 —
B05 17.2 30.9 26.0 16.44 1.70 8.94 17.88
B06 21.3 38.3 33.4 21.6 1.78 10.64 21.6
B08 26.4 47.4 42.6 30.72 1.89 12.75 26.16
B10 34.1 61.3 56.4 44.64 2.06 15.94 33.0
B12 37.1 66.7 61.8 50.04 2.11 17.18 354
P2~P3 B14 46.0 82.7 77.8 66.0 2.30 20.87 43.8 275 2500
B17 58.3 104.8 99.9 88.2 2.55 25.95 54.84
B20 63.8 114.7 109.8 98.04 2.66 28.23 59.76
B22 70.3 126.4 121.5 109.8 2) 2.80 30.92 60.36 2) 240
B25 79.3 142.5 137.6 — 2.99 34.64 —
B28 88.8 159.6 154.7 — 3.18 38.58 —
B31 100.0 179.7 174.9 — 341 43.21 —

1) 050=210 bar max. int.

2) 022=240 bar max. int.

Min Speed : 600 rpm




	p81.pdf
	p82
	p83
	p84
	p85
	p86
	p87
	p88
	p89
	p92
	p93
	p94
	p95
	p96
	p97

